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KR B 10. 00| FA % 100 1, 000 1,944 1,793 1,512
BERE | 10.00(fEkF| 50| 1,500 1,780 1,713| 1,557
EAS £ % 10. 00 | #856f 120 1,200( 2,970| 2,889| 2,808
HOR w5 5. 00 | FH %} 20 100| 3,564| 2,705 1,080
H X /1 15. 00 | AR} 50 750 3, 240
T D o JE 12. 00 [ ¥H % 197 2,364 2,268| 2,078 1,863
E O NAE ™5 4. 00| AR} 64 256 2,808 2,707| 2,160
H % =Y 3. 00| FH*} 268 804 2,160 1,814 1, 296
H A el 1. 00 | #H%f 260 260 1, 836 1,697 1,512
A (= 2. 00 | #H 5%} 227 4541 1,350 996 648
[ I\ o 5. 00| FH%f 602 3,010 1,890| 1,658 1,296
~7 b~ | F ) 3. 00 | FHx} 8 24| 1,944 1,917 1,728
IR Ak L 2. 00| FHxf 16 32| 3,564 3,125 2,916
A—=T 4 AbiEiE 10. 00| AHxf 20 200 2,916
B ¥ = 10. 00 | #H % 22 220 5,400 3,436| 3,240
£ A AL E 20. 00 | #H 5%} 220 4,400 2,916| 2,882 2,808
o @ | 1000 fERE|]  2e5] 2,650 4,104| 2,764 1,080
LA A O 10. 00| AHxf 498 4,980 3,780 2,567| 1,512
P=—LF R f& [l 4. 00| FH%f 746 2,984 1,944| 1,663 1,512
Tuyal— (r— 6. 00 | FH%f 232 1,392 4,320 4,073| 2,376
5o | .00 fixt| 60| 360 | 3,888
AEMEE w5 0. 10| #Hxf | 3,000 300 194 117 65
ZDXH E % 0. 20 | FHx} 2, 700 540 76 71 70
LU E B 0. 20 | FHx} 300 60 92




ID:1210 P- 2

P g SR
ESR S TR = 1 =i Q1 IV NI )
RHE SFI074£02 H 28 H EFER S 28 b (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

38 Foak L 10. 00 | #H%f 182 1,820 4,860 4,057| 1,836

VA 1 Ak L 10. 00 | ¥H % 32 320 2,592| 2,356 1,866

5 U H O 10. 00 | AH%F 20 200 5,184

SR H O 10. 00 | #H % 3 30 3, 888

Avava 7 4 U ¥ | 13.00]| A%t 61 793 4,104 2,716 594

HEFH D & [ 0. 27 | ¥Ax} 1,830 494 540 510 410

S & ) 0. 25| FH%F 7, 355 1,842 518 390 270

IRBHD Y £ IH 0. 25| FH*} 1,595 401 410 377 270




